	Реши уравнения.

27 + х = 75    у – 43 = 24   75 – а = 68


	Реши уравнения.

27 + х = 75    у – 43 = 24   75 – а = 68



	Реши уравнения.

24 + х = 73    у – 41 = 22   78 – а = 61


	Реши уравнения.

24 + х = 73    у – 41 = 22   78 – а = 61



	Реши уравнения.

67 + х = 79   у – 24 = 56   99 – а = 34


	Реши уравнения.

67 + х = 79   у – 24 = 56   99 – а = 34



	Реши уравнения.

44 + х = 72    у – 49 = 32   88 – а = 36


	Реши уравнения.

44 + х = 72    у – 49 = 32   88 – а = 36



	Реши уравнения.

82 + х = 96    у – 36 = 55   92 – а = 46


	Реши уравнения.

82 + х = 96    у – 36 = 55   92 – а = 46



	Реши уравнения.

43 + х = 71    у – 43 = 27   83 – а = 72


	Реши уравнения.

43 + х = 71    у – 43 = 27   83 – а = 72



	Реши уравнения.

80 + х = 92    у – 23 = 88   72 – а = 41


	Реши уравнения.

80 + х = 92    у – 23 = 88   72 – а = 41



	Реши уравнения.

51 + х = 84    у – 11= 59   71 – а = 38


	Реши уравнения.

51 + х = 84    у – 11= 59   71 – а = 38



	Реши уравнения.

51 + х = 87    у – 12= 59   79 – а = 38


	Реши уравнения.

51 + х = 87    у – 12= 59   79 – а = 38



	Реши уравнения.

81 + х = 94    у – 56= 23   70 – а = 35

	Реши уравнения.

81 + х = 94    у – 56= 23   70 – а = 35




